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I. Cloze (20%; 2% each)

The Fox and the Cat is one of The Complete Grimm’s Fairy Tales. One day, a cat came
across a fox in the woods and tried to start a friendly conversation, believing the fox to
be 1 and distinguished. The fox looked at the cat and _ 2  the cat when she
said that she only knew one simple trick, climbing a tree to get away from dogs. The fox
acted superior, insulted the cat, and _ 3  about having many clever ways to escape
danger. Just then, a hunter emerged with his __ 4 of dogs. The cat swiftly employed

her _ 5  skill and ascended beyond their reach. The fox, caught off guard and
uncertain which of his numerous tricks to use, was captured by the dogs.

1. (A) astute (B) asterisk (C) asymmetric (D) auditorium
2. (A) bereaved (B) beverage (C) belittled (D) billposter
3. (A) bragged (B) bulwark (C) besieged (D) bleached
4. (A) pack (B) pickled (C) pilgrim (D) pickpocket
5. (A)sole (B) skunk (C) simile (D) silhouette

The Tortoise and the Ducks is one of Aesop’s Fables. The tortoise always carried his
shell by himself. He noticed that birds could soar, and animals like the hare and
chipmunk could run around _ 6 . The tortoise longed to explore the world.
However, he had two major obstacles. He had to carry his shell everywhere and he
had short legs which made it difficult to get around. One day, he encountered a couple
of ducks and told them about his dilemma. The ducks said that they could assist him.
They told the tortoise to grip a stick with his teeth, and they would __ 7  him
through the air so that he could enjoy the scenery. But, the ducks warned the tortoise
that he must stay silent during the flight, or he would face the consequences. As the
ducks flew through the sky with the tortoise hanging onto the stick,an _ 8  crow
flew by and asked if the tortoise was in service to the king. “For sure!” said the
tortoise. But as the tortoise opened his mouth to say these _ 9  words, he lost grip



of the stick and tumbled to the ground, _ 10  into many pieces upon striking the

rocks.

6. (A)aged (B) agilely (C) atrociously (D) attributively

7. (A) tactics (B) tabular (C) transport (D) tightfisted

8. (A)incite (B) inbreeding (C) inquisitive (D) intercontinental
9. (A)immune (B) incense (C) imprudent (D) incinerate

10. (A) superb (B) summit (C) superseding (D) shattering

1. Reading Comprehension: Choose the best answer for each question (30%o;

2% each)

A lonely elephant was walking in the forest in search of a good friend. The elephant
met a monkey and asked him for his friendship. The monkey declined because the
elephant could not swing on the trees like him. The elephant kept moving and met a
rabbit. He asked the rabbit for his friendship but the rabbit declined as the elephant was
too big for his burrow. The elephant continued and met a frog and asked him the same
question he asked the other animals. The frog declined his friendship because the
elephant could not jump like him. The elephant asked the same question to more
animals but received the same answer.

Later, the same day the elephant saw many animals running out of fear. The
elephant stopped a bear and asked him about the reason for their hurry. The bear told
him that a tiger had attacked them. The elephant politely asked the tiger to stop
attacking all the animals but the tiger rejected his request. Finding no other option, the
elephant attacked the tiger and shooed him away. All the animals were thankful to the
elephant and said that he was the exact size to be their friend.

11. Why didn’t the monkey want to be friends with the elephant?
(A) The elephant didn’t look like the monkey.
(B) The elephant was too rude to be the monkey’s friend.
(C) The elephant couldn’t do what the monkey could do.
(D) The elephant couldn’t jump like him.
12. What does decline mean?
(A) accept
(B) refuse
(C) give
(D) take
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13. How many animals did the elephant ask for friendship?
(A) one
(B) two
(C) three
(D) more than three
14. Why were the animals grateful to the elephant?
(A) He was very polite.
(B) He stopped the bear to find out what was going on.
(C) He saw the animals running because they were scared.
(D) He made the tiger go away.
15. What is the moral of the story?
(A) Friends can be any size or shape.
(B) Enemies can be any size or shape.
(C) We should all be able to do the same thing.
(D) If you are big, no one will ever want to be friends with you.

The recession is not just hurting people. It’s also hurting pets. Animal shelters say
they are getting more stray animals, and people are giving more pets to them. These
pets include cats, dogs, horses, chickens, geese, and even Vietnamese pigs.

Kathy Dwyer manages an animal shelter in Boston. “Pets indicate changes in
society,” she said. About 11,000 cats and 2,500 dogs were given to the shelter in 1991.
And many people were very sad about giving up their pets.

“This past year a lot of people started to give up older pets, pets they shared their
lives with for 10 or 15 years,” said Mrs Dwyer. “Many people, like single mothers,
could not afford to keep their pets. Their economic position changed so much that they
had to give up pets they wanted to keep.”

16. What is a recession?
(A) It is when an economy shrinks.
(B) It is when an economy grows.
(C) It is when an economy stays the same.
(D) It is when an economy has been the same for a long time.
17. Inthe article, which of the following pets were NOT given to animal shelters?
(A) chickens

(B) cows
(C) horses
(D) pigs (F& &7 3340)



18. According to the article, in 1991, roughly how many animals were given to an
animal shelter in Boston?
(A)O
(B) 11,000
(C) 2,500
(D) 13,500
19. What reason does Mrs Dwyer give for many people giving up pets?
(A) They became too expensive.
(B) They didn’t love them anymore.
(C) They wanted new ones.
(D) They were too busy to keep them.
20. In the article, how were some people said to feel about giving up pets?
(A) not bothered

(B) unhappy
(C) happy
(D) disgusted

A single gene controls the ability to learn grammar, a researcher said. Myrna
Gopnik of Montreal’s McGill University studied a family whose members don’t know
to add “ed” for the past tense or “s”
members were intellectually normal.

Gopnik reported her research at a meeting of the American Association for the

for plural nouns. In all other ways, the family

Advancement of Science. She said people who lack the grammar gene “are worn out
just by talking, because they always struggle with verb tense and plurals.”

“The hardest part for them is people think they are stupid,” she said. “They are not.
They are like people who don’t have a native language.”

Steven Pinker of the Massachusetts Institute of Technology said the idea of a
grammar gene comes from the 1960s. Recent studies, such as the one by Gopnik,
support the idea.

Pinker said that research shows that learning words and learning to apply the rules
of grammar are very different functions. They come from different parts of the brain.

21. What is a gene?
(A) a basic unit of language
(B) a basic unit of measurement
(C) a basic unit of intelligence
(D) a basic unit of heredity



22. To whom did Gopnik report her research?
(A) the AAAS
(B) the AASA
(C) the ASAA
(D) the SAAA
23. According to the article, which of the following is a side-effect of NOT possessing
the grammar gene?
(A) People find verb tenses and plurals easy.
(B) People talk more.
(C) People get tired from talking.
(D) People are stupid.
24. Which university does Steven Pinker work at?
(A) McGill University
(B) MIT
(C) MTI
(D) Massachusetts University
25. According to the article, which of the following statements is true?
(A) The same part of the brain is responsible for learning words and learning to
apply the rules of grammar.
(B) Different parts of the brain are responsible for learning words and learning to
apply the rules of grammar.
(C) Learning words and learning to apply the rules of grammar are similar functions.
(D) Learning words and learning to apply the rules of grammar are always difficult.
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